&)
) & Negative eksponenter pa 10

StudentName: __ ExamDate:__ ExamScore:
1079 = 1003 =
338,7+ 1001 = 225,1+100Y =
7% 10072 = 1004 =
1070 = 846 + 100D =
233,6+ 100 = 1004 =
163,2+ 102 = 216,2 x 1073 =
9% 10> = 7% 10?2 =
545,3+ 10 = 100D =
—3x 107 = 399,4+ 1002 =
3x 100D = 819 = 100D =
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%3 % a } , Negative eksponenter pd 10

StudentName: _ ExamDate: _ ExamScore:
107% = 0.0001 107 = 0.001
338,7+ 100" = 3387 225,1+ 107 =225100
7% 1072 =0.07 107 = 0.0001
1079 = 0.1 846 + 1071 = 8460
233,6+ 107 = 233600 107 = 0.0001
163,2+ 1072 = 16320 216,2 x 107 = 0.2162
9 x 10% = 900 7% 10% =700
545,3 + 107 = 5453000 1077 =0.1
-3 x 107 = —300 399, 4+ 1072 = 39940
3x 107" =03 819 + 107 = 8190
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